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% AW [
GENERAL KNOWLEDGE
1. R Ao g % s fe g # bl 0

(A) TR CEES (C) 9w (D) W § | h1s &l
In which style are the temples of Bhubaneshwar and Puri built ?
(A) Nagara (B) Dravidian (C) Vesara (D) None of the above

2. = g YA fu MU &, T | T 1 MR (A) T9T GER I HRT (R) HET T8 |
SR (A) : T 3T T3S, G T I STRSH &1 &1 § 5 feoel! o HRd He9d H g3 |
FROT (R) : ToMqX, Smeh 3T T U MR 3oaay e ot T.ams. § & 8 997 9YRd sl JeeH
HUETTHA HAST & |
= fou e e ¥ @ e I g

(A) (A) 3T (R) 3T & € 3T (R), (A) I FEl =TT FLAT 2

(B) (A) 3R (R) &HI T &, Tg (R), (A) h! T& SATEAT T2 il &

(C) (A) ¥ &, g (R) 378 2

(D) (A) 318 &, T (R) ¥ &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Global India Al Summit was recently held at Bharat Mandapam in New Delhi.
Reason (R) : Singapore, Denmark and United States of America are among the highest rated Al and
India’s performance is relatively strong.

Select the correct answer from the code given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) istrue, but (R) is false

(D) (A) is false, but (R) is true

3. 2024W UH.E.U. g FTHIFGT HIA-T T3 g1, oA W hl Wifd 1 offmr & o foe afeass o
e wieh Wi Aferd it B 7
(A) TGHTIHTS (B) fergrem (C) THTERTITIR (D) TreRwEt

Which new drug, approved by the FDA in 2024, targets amyloid plaque in the brain to slow the progression
of Alzheimer’s disease ?

(A) Aducanumab (B) Kisunla (C) Lenacapavir (D) Legambi
4. Torm UST TEHR 3 <ft T TS AIGAT-TIETE ST g feI ?
(A) I e (B) BfferTg (C) HeElTSg (D) HEA Hem
Which State Government gave status of ‘Rajya Mata — Gomata’ to indigenous cow ?
(A) Uttar Pradesh (B) Chhattisgarh (C) Maharashtra (D) Madhya Pradesh
5. Ul fefergs <iftemfim 2024 SR i T8 ‘
(A) feme d (B) d&H | (C) grrs H (D) @1 §
Asian Billiards Championship 2024 was organised in
(A) Riyadh (B) Tehran (C) Mumbai (D) Dhaka
6. frmferfea & @ & ge@ a1 fova vl 1 fooiar 8 7
(A) I=f = (B) TJ WL (C) &<1T HegrT (D) TR SIS,
Who among the following is Youngest World Chess Champion ?
(A) Nancy Tyagi (B) Manu Bhaker (C) Sanjay Malhotra (D) Gukesh Dommaraju
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10.

11.

12.

frafafaa & & wH-w1 Mg § wufies 2o wuE 6 fafa 7@ 7 e

(A) TR (B) T&ToT (C) wifgca ween (D) 37T
Which of the following is not a method of primary data collection in research ?
(A) Interviews (B) Surveys (C) Literature review (D) Observations
Toregor & wreter fafyr o1 Sweran fod T AT B 2
(A) ST S B) faferm &€ fererdfes
(C) S, AT (D) gHTd
Who is considered to be the originator of the project method in teaching ?
(A) John Dewey (B) William Heard Kilpatrick
(C) Prof. Armstrong (D) Socrates
Tafier 3Tfehel o Tehsteur bl falRmi 8
a. g A fafy
b. ST JeATEel fafy
c. ATE &
d. T
o few e e @ & GE IR R
(A) %9 b, ¢, d (B) e a, b, d (C) %ad a, ¢, d (D) ad a, b, ¢

Methods of collection of primary data are
a. Case study method
b. Mail questionnaire method
c. Online resources

d. Schedule
Choose the correct answer from the options given below :
(A) Onlyb,c,d (B) Onlya, b, d (C) Onlya,c,d (D) Onlya,b,c

frefafaa § @ SF-a1 fewr § yreuTers gearehd 1 faear 78 8 2

(A) e o gur @ fow gda fdafsean sem e

(B) UTSIShH % 37d § US YeH i & o Afea foham S &

(C) BT 1 3ehl ATehd I BRI shl Tg=H H Hee Hidl &

(D) Wf¥erehi s U h1 ITTEwThal a1t &1 o SR H Hiad il o

Which of the following is not a characteristic of formative assessment in teaching ?
(A) Provides ongoing feedback to improve learning

(B) Conducted at the end of a course to assign grades

(C) Helps students to identify their strengths and weakness
(D) Informs instructors about areas needing improvements

freferftaa § @ - Wy i ol A 2 ¢

(A) Trffaes (B) UfgTiéeh (C) e (D) TR
Which of the following is not a method of research ?

(A) Philosophical (B) Historical (C) Survey (D) Observation
frfefaa & & -1 reTfegs TN S JhR TE & 7

(A) it Teha B) feftaa awor

(C) =Y "I (D) TR TFTeh

Which of the following is not a type of non-verbal communication ?

(A) Voice signal (B) Written communication

(C) Eye contact (D) Tactile contact
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13.

14.

15.

16.

17.

18.

19.

20.

freafafaa § @ form Teen 3 ¥ 2005 W §-FMehIST I IEaTd I ?

(A) 3TE.37T8. 8. HHEL (B) sfew et st W farvafereer

(C) sTRTETE fervaterne™ (D) feoett fovafaeme™

Which of the following institutions launched e-Gyankosh in the year 2005 ?

(A) IIT Kanpur (B) Indira Gandhi National Open University
(C) Allahabad University (D) Delhi University

HTeST-eh AT—FTS 1 ITANT hd THA, L& FEH o 070 STTHA STRH F1 & 7
(A) o1 foreht wfaaig o HaeeiiaT @l as 9g=
(B) 3T HIdRM bl TUfshe i o foru off. i.w4. 1 39 ot

(C) \eft FraT HUTIISH e i

(D) TR  H1Y 3TIHT el HTSH i

When using public Wi-Fi, what is a recommended practice to enhance security ?
(A) Access sensitive account without any restriction

(B) Use a VPN to encrypt your connection

(C) Disable all security settings
(D) Share your connection with others

Jeafem § . d w5 3 B 7

(A) TII T AeTh (B) ag37et ufeeteh Jeah

(C) dfuset smgae Feash (D) dfthTEE WTgae Jeawh

What does ‘VPN’ stand for in networking ?

(A) Virtual Private Network (B) Virtual Public Network

(C) Variable Private Network (D) Verified Private Network

WRA H IS e SR e a1 831 ?

(A) 1972 (B) 1968 H (C) 19801 (D) 1986 T
When was the Wildlife Protection Act passed in India ?

(A) 1972 (B) 1968 (C) 1980 (D) 1986

freafafaa & @ -5 19 fivg gve & Sed 8 2

(A) HTE SEAGEREES  (B) HE AHIATGHEE  (C) HITA (D) ATEeH ATFATES

Which of the following gases does not cause greenhouse effect ?
(A) Carbon dioxide (B) Carbon monoxide (C) Methane (D) Nitrous oxide

Irgued | MHEHd i 6 Fedt Jgdt o fHefafed gurfaa yame €, % sifdfea

(A) CO,®ieamseled  (B) Toilerel aTff (C) AT &xur (D) Safafaerar & afg

The increasing abundance of greenhouse gases in the atmosphere has the following possible affects, except

(A) CO, fertilization (B) Global warming (C) Ozone depletion (D) Increase in biodiversity
fraferfaa & @ SH-91 T YRA 1 HEW SUTE B 7
(A) Il (B) =T (C) Tr=ig (D) hvEer
Which one of the following is an artificial port of India ?
(A) Cochin (B) Chennai (C) Mumbai (D) Kandla
R % T8 T o Te8 31fereh SeTge o1 3cTe BT @ 7
(A) FTEs (B) hifeeh () sitfea (D) BefteTg
Which State of India is the largest producer of Bauxite ?
(A) Jharkhand (B) Karnataka (C) Odisha (D) Chhattisgarh
-4-
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21.

22.

23.

24.

3fid g | afreTg § 89 arell Il &1 JhR F®1E 7

(A) T (B) Wi Tshardi™ (C) HaEia (D) =haT
What is the type of rainfall that occurs in Tamil Nadu during winter season ?

(A) Mountainous (B) Anti cyclonic (C) Convectional (D) Cyclonic
‘I g <hl TR foREa Y 2

(A) @t faeer< (B) TS TH Higd T

(C) Tl TN T (D) QT T <d

Who founded the ‘Atmiya Sabha’ ?

(A) Swami Vivekananda (B) Raja Ram Mohan Roy

(C) Swami Dayananda Saraswati (D) Radha Kant Dev

fraferfad o @ fopd 1938 & UTY =g S19 o TATTIA ¢4 o IvTd TRAR TSR 1T H1 T4 AT
Y

(A) TEAVITE T BISEIRSINERS (C) T e (D) Sf. Telg J9Tg

Who among the following was elected as President of the Indian National Congress after Subhash Chandra
Bose resigned in 1938 ?

(A) Vallabhbhai Patel (B) Jawaharlal Nehru  (C) Annie Besant (D) Dr. Rajendra Prasad
Tt — | G - 115 |1 gAfera shifsre qen gt & = fqu e ge # 9 w8 3w g
T - T -1l
(Srder) (3TgreT)
a. 9T TR foetsh . Reewa 3Trgrer
b. SMeha et Il. 1857 fagre
c. HaTeT Treft 1. T=ceft 3TEe™ (1905 ¥ 1907)
d. SEIGL WM& IV. JTEEAM JAGeH
e
a b c d
(A) mv Il I
B) | 11 Y
(C) I v Il
(D) v il I
Match List — | with List — Il and select the correct answer from the code given below the lists :
List - | List -l
(Originator) (Movement)
a. Bal Gangadhar Tilak [. Khilafat Movement
b. Shaukat Al II. 1857 Revolt
c. Mahatma Gandhi Ill.  Swadeshi Movement (1905 to 1907)
d. Bahadur Shah IV. Non-Cooperation Movement
Code :
a b c d
(A ooV Il I
B) | 11 Y
(C) I v Il
(D) 1 v I
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25.

26.

27.

TS A & 91 # frefafgs § @ FR-m ke A@ B 7
(A) I8 T Wl e @ 5@ faafea =&t foman s gepar |
(B) &eh! Trgfera srermesft gra <ht STl & |

(C) 35 U Iufiearl ! I N S 1 ISR B |
(D) TE helel TG FAY o AT FelTierd Bl @ |

Which of the following statements about the Election Commission is true ?
(A) ltis a permanent body that can not be dissolved.

(B) It is appointed by the Prime Minister.

(C) It has the authority to disqualify the candidates.

(D) It only operates during election period.

GO A ST

(A) SriaTforeRT, faemfe o ufa ISaeert 2
B) Teremfient, SRRt & fd 3Ter B
(C) =ImaTferent, faamRen % wfd serh 2
(D) SHIIITTehT, =ATIUTTehRT o Ufd IR &

In Parliamentary form of Government

(A) Executive is responsible to legislature
(B) Legislature is responsible to executive
(C) Judiciary is responsible to legislature
(D) Executive is responsible to judiciary

gYe & fra Hed & el 9 Yraehod gfufa wfed i st 8 ¢
a. i
b. ST G491
c. THl Uedl & Heel §
d. Tsgufa grr AHTa Teet |
= fou U foehedt § @ T I gHT
(A) e a (B) T a 3N b
(C) ae d (D) ¥& a, b 31 d
The Estimates Committee is constituted from the members of which House of Parliament ?
a. Lok Sabha
b. Rajya Sabha
c. From members of both Houses

d. From members nominated by the President
Choose the correct answer from the options given below :

(A) Only a (B) Onlyaandb
(C) Onlyd (D) Onlya,bandd
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28.

20.

30.

Tl — 1B = — 1% Ty gRfera e aen givEt % e for T ke 7 @ T s gR
T - |

it - I
a. TgH fary . g do 3T A9
b. UTHE HTeUH Il g RE 1T% st My
c. T=Y.U. Afod . sEfEfcsT e Mg SaaThe
d. TR 3 Iv. TE 31 g fifaden 317% qiegeryH
&R
a b c d
(A) 1l 1] v I
B) I v I I
(O I Il v
(D) | v 0l Il
Match List — | with List — Il and select the correct answer from the code given below the lists :
List -1 List -1l
a. Adam Smith I. The Wealth of Nations
b. Thomas Malthus II. The Theory of Economic Growth
c. W.A. Lewis lll.  Imperialism and Unequal Development
d. Samir Amin IV. Essay on the Principles of Population
Code :
a b c d
(A) 1l 1] v I
B) I v I 1]
(O I Il v
(D) | v 0l Il

Hedld 9E 2025 — 26 T forT TSI T ‘@M 918’ I TSd T 1 I&IE fear T 8 ?

(A) g 3 Hyrfic (B) feEr
(C) S e (D) 3y o
In Union Budget 2025 — 26, ‘Makhana Board’ is proposed to be set up in the State of
(A) Jammu and Kashmir (B) Bihar
(C) Uttar Pradesh (D) Andhra Pradesh
HUT TS 2025 — 26 H HATS 1 HY TSI HId Hal & 3T I 3TAH 8 7
(A) TR (B) %] TF HaT T
(C) 3™ &K (D) H&H ¢
In Union Budget 2025 — 26, the largest source of earning is estimated to come from
(A) Excise Duty (B) Goods and Services Tax
(C) Income Tax (D) Customs Duty
-7-
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32.

33.

Te fomm

HOME SCIENCE
frafeiad o | - @rer da gorelt # de i I;MHA Tal BT g ?

(A) 3=9 3 TR
(C) B ks

(B) éﬁeﬂa TRl W=
(D) &% el

Which among the following does not involve waiter in food service system ?

(A) High end restaurant
(C) Fast food

(B) Casual dining restaurant

(D) Cafe service

Frefafga O 9 H9-8 @@ yord dfees tfie & EHifeo 8 9™ o @ 7

a.
b.
c
d

EE

(A) atd bl 2
(C) cUd d W&l 7

(B) bTH c H&El &
(D) dUd a W&l &

Which of the following foods are produced by involving lactic acid fermentation ?

a. Beer

b. Yogurt

c. Cheese

d. Vinegar

(A) aand b both are correct
¢ and d both are correct

(C)
Tl — 11 % Ty g — | BT e |

T - |
.St

oo o

. T

I I A=

(A) a-—

(B) a-—

(C) a-

(D) a—4, b-

Match List —I with List — II.
List -1

a. Cumin seed

b. Coriander seed

c. Garlic

d. Mustard

wh =

4.

(B) b and c both are correct
(D) dand a both are correct

g -1l

EIEERECAK
STFACTRTA o J9TE & FeaT
U et 1 faehr
HRAfeE wie

List -1l
Digestive disorder
Protection against aflatoxin effect
Flatulence disorder
Carminative agent

Choose the answer from the options given below.

(A) a—4, b-3,
(B)
(€)
(D)

c—1,d-2
3, b-4,¢c-1,d-2
-2, b-3,¢c-4,d-1
4, b-1,¢c-2,d-3

o o ©

’ )
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34.

35.

36.

T - | |8 W@ g — Il % fm=e w1 fireH Hifs |

g -1 = -1l
(T ) (frmawe)
a. Fhel i. T
b. TSR i, fererferm
c. Wl iii. FARITRA
d. 9T iv. hUfeirg
Match the List —I Food to its Pigment in List — II.
List -1 List—1I
(Food) (Pigments)
a. Beetroots i. Flavones
b. Carrots ii. Betalin
c. Onions iii. Chlorophyll
d. Spinach iv. Carotenoids
a b ¢ d
(A) i ii iii iv
(B) i iv i iii
(C) iii i iv [
(D) iv iii i ii
IS g <ht Tte fafer 61 3ereter 2
(A) =T B) fufem (C) it (D) sf&m
Example of combination cooking method is
(A) Sauteing (B) Grilling (C) Poaching (D) Braising

frfafiga o & SH-¥ @ gt | e T8 arar AR fafaees W @ difed w1 g6en ST
TR G R ?

a. T8 I 3T

b. =& bl AT

c. = T 3T

d. Hefhl <hl 3ATET

(A) a, b3 dH 2 (B) a, b 3 ¢ @&l B

(C) ¢,d 3 a Tl & (D) b, c 3R d T& 2

Which of the following food do not contain gluten and is acceptable for patients with celiac disease
to consume ?

a. Wheat Flour

b. Rice Flour

c. Gram Flour

d. Corn Flour

(A) a, b and d are correct (B) a, b and c are correct

(C) ¢, dand a are correct (D) b, cand d are correct
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37.

38.

39.

AT T HE &

. U 1 Ffsshaent

. TR SfaTupatt <t Te

. @TE i 3 7§ ghg

. afesai & & T Hl q M T

. GEmSial St @ 4 HH HE

A) % a, d, e (B) %A b, ¢, d (C) %ad ¢, d, e (D) %ae a, b, ¢

The functions of blanching are

® o o T o

—

a. Inactivation of enzymes

b. To preserve healthy bacteria

c. Increase food volume

d. Enhancing green colour of vegetables

e. Reducing microorganisms

(A) a, d, eonly (B) b, c,donly (C) ¢, d, eonly (D) a, b, conly
Frafafaa 1 fiem =t |

T - -1l

a. Gehidl i 3T
b. HaRIS ii. et AT
c. RIS iii. g4
d. oF iv. 3R
Match the following.
List—1 List -1l
a. Sucrose i. Potatoes
b. Fructose ii. Beet Sugar
c. Glucose iii. Milk
d. Lactose iv. Grapes
(A) a—ii, b—i, c—iv, d—ii (B) a—iii, b—ii, c—i, d—iv
(C) a—i, b—iii, c—ii, d—1iv (D) a—iv, b—iii, c—ii, d—i

Jgu fop &g o 3TaN9oT sl yTfed e o fole shi-|1 eF w&t 8 ?

a. BRI 3T Afadere

b. Afegen fasfierar # gfg

c. 3TeAal E[f:_&'

d. T3 s IIEH

(A) a 3R bHd 3 (B) sheel ¢ TE B (C) c IR d &t & (D) Iulrerd gt
Identify which of the statement is correct in consideration of affecting the absorption of iron ?

a. Phytates and oxalates

b. Increased gastric mobility

c. Increased acidity

d. Animal tissue protein

(A) aandb are correct (B) only cis correct (C) candd are correct (D) all of these

-10-
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40.

41.

42.

43.

U — | : HIYET T IEINTU TEIa: B d F a1 R |

Y — Il : hicIem I gosiierdr 3R Taye s feufa 3 rfees g § |

&l ferped 9 |

(A) HYT | T fobeg 11 318 B (B) YA | 3T T 11 T B
(C) Y | TYT II T | B (D) U | AT || ST 3TE9H B
Statement - | : Most calcium absorption occurs in the small intestine.

Statement — Il : Calcium is more soluble and absorbed in the acidic conditions.
Choose the correct answer.

(A) Statement | is true but Il is false (B) Statement | is false but Il is true
(C) Both statements | and Il are true (D) Both statements | and Il are false
fireRe (A) : Wil 9% & SR 3c9a g Ufgshed SaIE Sl T8 id 8 |

HRT (R) : I8 T UishaT & Toreh grRa vad T hivrehil ared uered i et ot 2 |
(A) (A) @M (R) THI & B (B) (A) 7T (R) THI 3 8

(©) (A) ¥ & fobrg (R) 3/ 2 (D) (A) 375 & fobeg (R) ¥ 2

Assertion (A) : The free radicals generated during respiratory burst kills bacteria.

Reason (R) : It is a process by which white blood cells engulf foreign matter.

(A) Both (A) and (R) are true (B) Both (A) and (R) are false

(C) (A) is true but (R) is false (D) (A) is false but (R) is true
Faor % Ty | frafofed § @S-8 a2 e 7 7

a. fox <t uftfyr o1l 61 ufifer @ m 2t 2 |

b. R i uftfer Brcft 6t afdfy & s1ferss gt 2 |

c. T &t ufifer qen ot i ufifer v aum Bt 2

(A) o a (B) adqT b Ml

(C) et b (D) b T ¢ gl

Which of the following statement/statements is true in case of malnutrition ?

a. Head circumferences is less than chest circumferences.

b. Head circumferences is more than chest circumferences.

c. Head circumferences is equal to chest circumferences.

(A) only a (B) aand b both

(C) onlyb (D) b and c both

TR (A) : BT o S Tohe 1 TT THIISR B T T2 ol § ¥R §1 § ufafid &1 S 2 |
HROT(R) : 91 TNV o T YU & HeHrAifsH 1 fmior gt § |

(A) (A) @ (R) gHT 38T 2 (B) (A) T & TAT (R) IHHT Fel TISAHI 2
(C) (A) T & T (R) 3T Hel TSR0l 721 8 (D) (A) 318 ® o (R) I &
Assertion (A) : Large cuts of meat on exposure changes to brown colour from bright red.
Reason (R) : Prolonged exposure to air leads to formation of metmyoglobin.

(A) Both (A) and (R) are false (B) (A)is true and (R) is correct explanation
(C) (A)is true but (R) is not correct explanation (D) (A) is false but (R) is true

-11-
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44. g — | G — 11 S T gAfATd R |

T - = -l
a. 3.0.3R. i, SHEET T U STk SAfedal hl Uyeh dedi <l STTEvehd]
b. IR.ELT. ii. 3TEd IS qcd hi STTELIhdl
c. T3, iii. ITAAH ITAUEY S TR NG 7 YT h
d. d..ua. iv. TR I o JTElhd THH
Match List — | with List — II.
List -1 List -1l
a. EAR i. Nutrient requirement of most individuals in population group
b. RDA ii. Average nutrient requirement
c. Al iii. Highest intake unlikely to pose health risk
d. TUL iv. Observed estimation of healthy people
(A) a—iv b—iii c—ii d—i (B) a—iii b—ivec—i d-ii
(C) a—iii b—i c—iv d—ii (D) a—ii b-i c—iv d—iii
45. A — | FEA — 11 =1 guled |
T - | g -l
a. fraem i, gaTE S JaTg Y T
b. JTESH ii. ST <l ARl H i i IETT
c. = iii. STrg= bl afshan
d. T iv. et sl e s, g s
Match List — | with List — 1.
List -1 List -1l
a. Planning i. Establishing smooth work flow
b. Organizing ii. Initiating actual performance of tasks
c. Directing ii. Process of linking
d. Coordinating iv. Continuous exercise of setting, resetting goals
(A) a—iv b—iii c—ii d—i (B) a—iii b—ivec—i d-ii
(C) a—iii b—i c—iv d—ii (D) a—ii b-i c—iv d—iii

46. = F fem R |
HUA | : TH B T e T gHamaty & faw sifim aw w fomn smar @
A Il : T B k1 FAfTed 3Tael % <k W FelTE ST R |
3T HUAT o ATl § FeATferd faehedt # @ waifees Iuge W g4 |
(A) U | I | AT A B (B) ¥ | 3T || I TTeAd B
(C) H | acT & Toheg oM Il TTeTa B (D) 2 | TTeta g foheg A 1l T B
Given below are two statements.
Statement 1 : Cyclic menus are planned in advance for a period of time.
Statement Il : Cyclic menus are cycled at fixed intervals.
In the light of the above choose the correct answer from the options given below.
(A) Both statements | and Il are true (B) Both statements | and Il are false
(C) Statement | is true but statement Il is false (D) Statement | is false but statement Il is true
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47.

48.

fr=fafiaa 1 th wA § safea =)

i 3T

ii. T AT

i, TS

iv. T s

v. GH<IT

vi.‘—:K?JI'i'Oh_vl

3T o ATeleh | i feu e fashedt & @ @ S A |

(A) iii, i, ii, v, iv, vi (B) i, ii, iii, v, iv, vi

(C) i, i, i, iv, vi, v (D) iv, v, vi, iii, ii, i
Arrange the following in sequence.

i. Organizing

ii. Directing

iii. Planning

iv. Controlling

v. Coordinating

vi. Evaluating

Choose the correct answer from the options given below.

(A) iii, i, ii, v, iv, vi (B) i, ii, iii, v, iv, vi
(C) iii, i, i, iv, vi, v (D) iv, v, vi, iii, ii, i
= g wed few mu 7 |

FHYA | : I AT T =TS TR H a1 7 FoH HHart uTesh i WY TR HaT & 3R 34
T q9 qeh YAI&T HLdT & STe doh foh o8 aF T8 ot oidT foh 39 =1 =ieT |

U 1 : HIS Tl T TR SR <l Hal & STal Tl A1 TFEhRI o Y@ ol HehR fohall ST & |
I 3Tt | i feu Mo foshedt § @ @& S gH |

(A) THT S | 3T || T B

(B) M e | 3 || TTeid

(C) YT | T & oifehd HU |l Toid 8

(D) U | TAd & ATk B || TF &

Given below are two statements.

Statement | : Waiter service is a formal type of service in which staff presents menu to the customer
and waits for him till he decides what he wants.

Statement Il : Banquet service is the most sophisticated type of service where heads of States or
Governments are being entertained.

In the light of the above choose the correct answer from the options given below.

(A) Both statements | and Il are true

(B) Both statements | and Il are false

(C) Statement | is true but statement Il is false

(D) Statement | is false but statement Il is true
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49.

50.

T — 1 G - 1 T |

g -1 g -1l
a. el &1 i. T T T g Freiicd g @
b. 389 & &I ii. TATE o IFTHR B
c. TIANH T T CRA R
d. b A iv. 39 feA % for fosi
H= for ™ foepedi @ TE W g |
(A) a—ii b—i c—iv d —iii
(B) a—i b —ii c —iii d—iv
(C) a—ii b—i c —iii d-iv
(D) a—iii b —ii c—iv d—i
Match List — | with List — II.
List -1 List -1l
A la carte i. A setof price is set
Table d’hote ii. Choice menu

Combination menu ii. Repeated menu

Qe o o

Cyclic menu iv. Special for the day
Choose the correct answer from the options given below.
(A) a—ii b—i c—iv d —iii
(B) a—i b —ii c — i d-iv
(C) a—ii b—i c —iii d-iv
(D) a—iii b —ii c—iv d—i

el Q1 U QT T 8, T ol AR (A) 3TR GEL S SRUT (R) o &9 H ieiel fohall 1T 3 |
TUHUT (A) : T WTE el (TS sh T1&T A9 HHHT Bl & |

HRUT(R) : I WIS o IcqTed TR Tl & AU 3Ta9deh 370 GEIEHT ol I i & [T & o
e feman Strom 3R @< feman StTem A1 e e foReT ST Tehar B |

39U o 3ATeAleh | = feu U foepedi § @ HE S wal |

(A) (A) 3T (R) ST T& 2 3R (R), (A) h1 HEl SATEAT HLdT &

(B) (A) 3 (R) THT T&l & oifeh (R) (A) i Wl ST el el &

(C) (A) T B wifeha (R) &l T 2

(D) (A) @&l Tl 8 ©ifehd (R) WEl &

Given below are two statements, one is labeled as Assertion (A) and other is labeled as Reason (R).
Assertion (A) : The goal of every food service establishment is to make profits.

Reason (R) : Goal can be achieved if money will be invested and spend in order to acquire the
other resources necessary for the production and service of food.

In the light of the above choose the correct answer from the options given below.

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A)is correct but (R) is not correct

(D) (A) is not correct but (R) is correct
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52.

gafeTa L |
T - = -1l
(STHTTT) (Rrdrerma)
a. TS = 1. AR IGd I UgaH
b. s fafrda 2. TTgh T et
c. HE I 3. Tfafafy srfesktr dey
d. s faweryo 4. TE HUEH 61 T
e. T NI A 5. THE &7 Hi T
Match the following.
List -1 List -1l
(Tools) (Characteristics)
a. Organisation chart 1. Identify peaks and troughs
b. Job specification 2. Customer demand pattern
c. Work schedule 3. Activity authority relationship
d. Job analysis 4. Selection of right employee
e. Standard costing sheets 5. Problem areas identification
a b c d e
(A) 4 5 2 1 3
(B) 3 4 1 5 2
(C) 2 3 5 4 1
(D) 2 5 1 3 4
T — |8 A S w1 € 3 gk i |
gt -1 -1
a. 9l =i i. IS I TIE H 9 @l 7
b. HIg B ii. e & e faet 9aqg weH T §
c. I P iii. Tt <t fskam =l T < B
d. T HISE iv. SIS I 3T geheldl &
Match the items in List — | with the items in List — II.
List -1 List -1l
a. Throat plate i. Holds the fabric in place
b. Feed dog ii. Provides smooth surface for stitching
c. Pressure foot iii. Stops the sewing mechanism
d. Stop motion screw iv. Moves the fabric ahead
a b c d
(A) i iii ii iv
(B) i iv i iii
(C) iii ii iv i
(D) iv i iii ii
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53. HErEs ATt S uS h1 g WAl o s ITATT L AR AT RIS Hleh TR o Fehi I ATTSa
HTHR 8 SHC T o ToTu 3w & 31ma1 @ 38 hed ©
(A) SeTATSHT (B) FeTHIE (C) FeTedtfehT (D) Wehishd T
Accessory that is used between the two layers of fabric by sewing or fusing to keep the component
of garment in desired shape is called
(A) Interlining (B) Interfacing (C) Interlocking (D) Integrated tag
54. AUHYF (A) : HEH 96  foTT IR % T g6 HH HET AT |
HRUT (R) : ISR |2 I TS e 1 THMAT I TTIId HLT 8 |
(A) (A) eI & Wifh (R) HEl B (B) (A) W&l & <fehd (R) TTefd B
(©) (A) 3R (R) aHT Wt 2 (D) (A) 3T (R) G TToTd 2
Assertion (A) : The pressure of pressure foot should be decreased for fine clothes.
Reason (R) : Pressure of pressure foot affects the uniformity of stitches.

(A) (A)is false but (R) is true (B) (A)is true but (R) is false
(C) (A) and (R) both are true (D) (A) and (R) both are false
55. HHfTd L |
T - g -l
(57 Fmion) (feroteramd)
a. =l fafy 1. Tia, Ja:aTa
b. femmg fafr 2. e LTl
c. hrar fafy 3. 9T T I W AT
d. g8 fafa 4. grm fo@ e
Match the following :
List—1 List -1l
(Fabric Construction) (Characteristics)

a. Braid method 1. Knotted, interlooped
b. Knitting method 2. Interlocking loops
c. Lace method 3. Yarns interlocked at straight angles
d. Weaving method 4. Yarns interlocked diagonally
a b c d
(A) 4 3 2 1
(B) 4 2 1 3
(C) 38 4 2 1
(D) 3 1 4
56. Wﬁl’%ﬁ?ﬁaﬁ? ot fafer =mes 3T ShHerar derdt § 7
(A) SIS (B) ThHIAATTT (C) seftfem (D) HEESIIA
Which method increases lustre and softness in cotton and linen ?
(A) Carbonizing (B) Scouring (C) Bleaching (D) Mercerization
57. § BT HUS H TN HIga hi Fohert W <hi strarwarehar gt & 7
(A) 50 Ffasrd (B) 75 gfasra (C) 85 ufcera (D) 25 feera
How much presence of orlon fiber is required in knitted fabric ?
(A) 50 percent (B) 75 percent (C) 85 percent (D) 25 percent
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58.

59.

60.

SATWERYA (A) : 32 UM 1 W SRed 3T 9iH <1 o 2
RO (R) : 38 UHI o WM & (I SWIET 61 39T &) foham S & |

(A) (A) 3R (R) qHI @&l & (B) (A)TEl & S (R) =&t & &

(©) (A & 71 2 afh (R) & B (D) (A) 31 (R) TTeTd &
Assertion (A) : Cold water starch is mixture of borax and wax.

Reason (R) : Ammonia is not used for cold water starch.

(A) Both (A) and (R) are correct

(B) (A) is correct but (R) is not correct

(C) (A) is not correct but (R) is correct (D) (A) and (R) are not correct
et U hI TG 1 FAHH Far |
i fafs
i, frf=e
i, ST
iv. THISTT
v. i g gie afén
vi. feamsfim
(A) i, iii, iv, v, ii I vi (B) i, iv, i, iii, vi I v (C) i, vi, iv, iii, ii v (D) v, i, vi, iii, ii I v
Give the correct sequence for cotton fabric processing.
i. Singeing
ii. Printing
iii. Bleaching
iv. Scouring
v. Cutting and heat setting
vi. Desizing
(A) i, iii, iv, v, il and vi (B) i, iv, i, iii, viand v (C) i, vi, iv, iii, iiand v (D) v, i, vi, iii, it and v
maﬁvnéaa;ﬂmaﬂﬁwwﬁ—lé;maaﬁ—ngﬁﬁaﬁ |
T - g -1l
a. 3T W | ifeTseet
b. feord W= I aef W
c. Ufafskan e 1. =M, AT3A
d. frme V. it
= feu Tu faskedt # @ T W A |
(A) a=Il b=1 c-1ll d=1V B) a=Ill b-1 c—IV d-1
(C) a-ll b=l c=1d-1V (D) a=1 b—=1Il c—1IV d-1l
Match the textile dying technology from List — | with List — II.
List - | List -1l
a. Acid dyes I. Polyster
b. Disperse dyes II. All fibre
c. Reaction dyes Ill. Silk, Nylon
d. Pigments IV. Cotton
Choose the answer from the options given below :
(A) a=Il b=1 c-1ll d=1V B) a=Ill b-1 c—IV d-1
(C) a-ll b=l c—-1d-1V (D) a=1 b—=1Il c—1IV d-1l
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61. TANIH YU ThEehT ISR & 7

(A) ST Tofh (B) STT=id 5%

(C) @i 5 (D) IR § | i &l

Tyrian purple is an example of

(A) Vegetable dyes (B) Animal dyes

(C) Mineral dyes (D) None of the above
62. U FATYT AT Siiohg Foh TS T IgTEATT & 7

(A) Zeftet TS (B) st TS

(C) ke TS (D) STEshe T

Tapestry cloth and Brocade are the examples of which weave ?

(A) Twill weave (B) Rib weave

(C) Jacquard weave (D) Basket weave

63. YA (A): STl TS T 3Tehfd aTclt TS I & Sfeet feame § smn S 2 |
ek (R) : Topet oft TS O B <l e Eeh! T i Fuifid et B |
(A) (A) TEl B @ifehd (R) TTerd & (B) (A) 3T (R) Sl wefl 2
(C) (A) TreTd & oifeh (R) &1l & (D) (A) 3R (R) GHT Terd &
Statement (A) : Figured weaves are made into complex design in Dobby weave.
Reason (R) : Structure of any weave is decided by the number of harness.

(A) (A) is true but (R) is false (B) (A) and (R) both are true
(C) (A) is false but (R) is true (D) (A) and (R) both are false
64. TohE HTeR H Iepse Icohedl (ITT) BT & 7
(A) (B) HUTE
(C) I (D) T
In which fibre has excellent loft ?
(A) Silk (B) Cotton
(C) Wool (D) Linen
65. € TS ishaT 1 UH o HeE Heeaqul =0 &
(A) HTSA (B) Tem
(C) TR (D) F=mo
It is the first and fore most step of management process
(A) Organization (B) Planning
(C) Evaluation (D) Controlling
66. SIS hTell UT fehfl 311 T1 0 fyetram Sram @, 1 38 hed 8
(A) ST (B) f& (C) B (D) TT e
When black colour is added to any colour, it is called
(A) Chroma (B) Tint (C) Shade (D) Colour value
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67. & SAGEATI WfhaAT i Tl hH H AT |

68.

69.

1. Hofta™

HedTeh

. IS

. 1 T 3T

TR

Arrange the right sequence of home management process.
1. Energising
2. Evaluation
3. Planning
4
5

GEF NSNS

. Allocation of work
. Adjusting
(A) 5, 3, 1,4, 2 B) 8, 4, 1,5, 2
(C) 8, 1,4,5, 2 D) 1, 3, 4,2, 5
ot o= 1 wfsham < A ol Safed W |
. TS 6 qEEH HET |
. T foehed & uftorml & mrerm | fomm 3 A" & |
. TEAT I BT T FhTS T ERET TR HET |
d. G99 37 HREATEl o dieh Sl gAE |

o T o

e. Blﬁﬁ?FQTEBT{FZiTEFII

3T o 3ATeleh | 9 feu v fashedt & @ @&l S A |

(A) a, d, c, b, e (B) ¢, a, b, d, e
(C) a,c, b, d, e (D) e, c, b, a, d

Arrange the sequence of decision making process.
a. ldentifying the problems.

b. Consideration and thinking through the consequences of each alternatives.

¢. Obtaining information and formulating cause of action.
d. Selecting the cause of action that seems the best.
e. Evaluation of feedback.

In the light of the above choose the correct answer from the options given below.

(A) a, d, c, b, e (B) c, a, b, d, e
(C) a,c,b,d,e (D) e,c,b,a,d
9 T & S et b1 Terga TR B 7

(A) 3T (B) U

(C) HqeH (D) STTETT
Which of the following is not a principle of art ?

(A) Proportion (B) Colour

(C) Balance (D) Harmony
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70.

71.

72.

= 1 e fem T R |

FRH | : g YA UTHETGh HETEHT 3l ITANT hich TTRATIE AGAT hl YT i hl Teh AfhAT 7 |
Tl : TR & F TR 1 T8 TG HIWA b =01 hi el T Ageyu! fosmar 2 |
3T o ATelreh | 9 feu v faehedt & @ @&l 3 A |

(A) THT YT | I 11 T B (B) T %Y | 3R 11 7Td &

(C) U | TeAd 8 3 HUA || T B (D) A | T & T YT |1 7Teid 2

Given below are two statements.

Statement | : Home management is a process of achieving family goals by utilizing family
resource.

Statement Il : The responsibility of transfer of home management skills to the older member of
the family is another important characteristic.

In the light of the above choose the correct answer from the options given below.

(A) Both statements | and Il are true (B) Both statements | and Il are false

(C) Statement | is false and statement Il is true (D) Statement | is true and statement |l is false

HASITEH HTEAT 3h1 STERIHATSAT b ITUHH Bl Tl A H (TR
i. FATCHS JATaTIhdTd

ii. 3ATeH T

iii. IR Traeefl savIRd™

iv. 3T Jcaefienor

(A) iii, iv, | 3T i (B) iii, i, i 3 iv (C) i, iii, iv, 3T i (D) ii, i, iii 3 iv

Arrange Abraham Maslow’s Hierarchy of needs in correct sequence :
i. Security needs

ii. Self esteem

iii. Physiological needs

iv. Self actualization

(A) iii, iv, i and ii (B) iii, i, i and iv (C) i, iii, iv, and i (D) i, i, iii and iv
! Teh HA H T i |

i, GRS hisd

ii. ST FUhT

iii. Qe

iv. AT &THdT

v. 3TB1 SAfedd 3 HHISh GHREISH
vi. 3TBT HHHe ey
IUUER o Tereh H A feu u fashedt § @ wEl 3w g

(A) i, i, iv, iii, vi, v (B) i, ii, iii, v, iv, vi
(C) iii, i, i, iv, vi, v (D) iv, v, vi, iii, ii, i
Arrange the following in a sequence.

i. Social skills

ii. Social interest

iii. Friendship

iv. Social competence
v. Good personal and social adjustments
vi. Good mental health

In the light of the above choose the correct answer from the options given below :
(A) i, i, iv, iii, vi, v (B) i, ii, iii, v, iv, vi
(C) iii, i, i, iv, vi, v (D) v, v, vi, iii, ii, i

-20-

53



iV

73. YIRA TR A e 73 feoeil § TS fho e SRl (RKSK) w1 I foham ?

(A) 7SHad 2014 (B) 8SHat 2000
(C) 2 ITFRE 1975 (D) 8Tt 1993
When Government of India launched Rashtriya Kishore Swasthya Karyakram (RKSK) in New
Delhi ?
(A) 7t Jan. 2014 (B) 8t Jan. 2000
(C) 2nd Oct. 1975 (D) 8t April 1993
74. 9 WS & G3HTCHS e o faga S GediEes /gadusi SaE Bt @
(A) S T 24 TEH dh (B) S & 12 TEH d
(C) Th a8 ¥ 7 99 dh (D) | ¥ NN 9§ deh
Sensory motor stage of Jean Piagets cognitive development theory takes place between
(A) Birth to 24 months (B) Birth to 12 months
(C) One year to seven years (D) Seven to eleven years

75. frfafea & @ @& s g |
a. T uftgerear 3K Hiwd 1 3aK 2 |
b. YRRk faehm shi qora1 § a1g o foshra @ 31feres foehe g1ar 2 |
c. fasm@ o =xfFard =R BT B |
d. ferehre o1 ToEq AT B # |
(A) et a 3N ¢ (B) shaet ¢ 3R d
(C) %ad a, ¢ 3R d (D) a,b,c3d
Choose the correct answer from the following :
a. Development is the product of maturation and learning.
b. Later development is more critical than early development.
c. There are individual differences in development.
d. The development pattern is predictable.
(A) aandconly (B) candd only
(C) a,canddonly (D) a,b,candd
76. UREET & FATIR 3% T4 AHIioeh I & 317e sraeenstt o favamm 3t sifavary fawm 6
TR Sreen fpa 3mg H It R 2
(A) Ud STeTaET i FTaedT § (B) SSTeTEAT T
(C) Terstrrereen & (D) ==h & H
According to Erickson’s eight stages of psychosocial development, during which age does
psychological stage of trust and mistrust developed ?
(A) Early childhood stage (B) Infancy stage
(C) Adolescence (D) Adulthood
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77.

78.

gl — | 1 g - 11 "y gafad w1 |
=i - |
a. TR S99 IH 3R HeE
b. ITNT S EHaT
c. g S UM Wifed
d. 3TEHR TruiaT S e
o e u ferebedt # & wE S T |
a b c d
(A) iv i i ii
(B) i iii
(C) ii i
(D) iii iv i i
Match the List — | with List — II.
List -1

Autonomy vs Shame and doubt
Industry vs Inferiority
Identity vs Identity confusion ii. Wil

d. Ego integrity vs Despair iv. Fidelity
Choose the correct answer from the options given below :

a b c d

iv i
iv ii

List -1l
i. Skil/Competence
ii. Wisdom

o o

A v i i il
®) i i v i
©) i i v i
©) i v Qi

el Q1 U 6T T 2 T I TR A 3T GEL 1 SIOT R o &9 H ol o1 TR E |

ANTHUA (A) : GET Teh e/ 8 S 318 37 998 9 37T § |

RO (R) : FE o HIem § sheel 310 SR SETeHT ol SR o6l § Hemm =8 2l § |

ST o 3Teleh H A= feu T fashedt ®# @ W@ W |

(A) (A) 3T (R) T & 2

(B) (A) 3R (R) THI @&l i ®

(C) () Wl 2 fobeg] (R) W&l & B

(D) (A) W&l &l & g (R) W&l &

Given below are two statements one is labeled as Assertion A and other is labeled as Reason R.
Assertion (A) : Learning is a development that comes from practice and effort.

Reason (R) : Through learning children do not acquire competence in using their hereditary
resources.

In the light of the above choose the correct answer from the options given below :

(A) Both (A) and (R) are correct

(B) Both (A) and (R) are incorrect

(C) (A)is correct but (R) is not correct

(D) (A)is not correct but (R) is correct
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79. guferd HfT

80.

a
b
c
d

gt -1 gt -1
. I8 ol Gfed BTl T U [T & SN oS qE W ST Wl v 0. U
. g Tafiys fawni & gefud seri I 2 ii. S, qeR
. Ig B 36N &b BT I Teh Tehdl Gfgd e /HT 7 ii.  EER 9=

. Ig ¢ IR o HITS I Teh Uehed Gigd 3fie/HTTeT gram & iv. legt

YR o 3ATelreh | ) feu e foepedt § & Tt W gFT -

a b c d
(A) i iv iii i
(B) iv iii i ii
(C) iii i i iv
(D) ii i iii iv
Match the following :
List -1 List -1l
a. ltis bunch of loose printed papers properly folded i. Leaflet
b. It contains information related to various topic ii. Journal, Magazine
c. ltis a single printed sheet of paper of small size iii. Newspaper
d. ltis a single printed sheet of paper of big size iv. Folder
In the light of the above choose the correct answer from the options given below.
a b c d
(A) i iv iii i
(B) iv iii i ii
(C) iii i i iv
(D) ii i iii iv
“ S % TAR HIR o WISA o TIhH i SFATEIT L |
a. U He¥
b. &I
c. TSt
d. fesret
e. I
f.
) fe e ferekedt @ R IO T |
(A) a,b,e, c,d,f (B) b,c,a,e,d,f (C) b,a,e, c,d,f (D) b,a,f,ced
Arrange the sequence of model of communication according to “Berlo”.
a. Message
b. Sources
c. Encoder
d. Decoder
e. Channel
f. Receiver
Choose the correct answer from the options given below :

(A) a,b,e, c,d,f (B) b,c,a,e,d,f (C) b,a,e, c,d,f
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gafera Hifve -

gt - | gt -1l
a. FAY IS i. 22x28
b. et U ii. 30 x 40
c. TR iii. 20 x 30
d. Tomer % few fem iv. 24 x 18

UL o 3Tl | i fou mu faekedt 4 @ @&t 3w g
a b c d

(A) i i iii iv
(B) i ii iii iv
(C) i i iv iii
(D) iii ii iv i
Match the following :

List -1 List -1
a. Flash card i. 22x28
b. Fannel graph ii. 30x40
c. Poster iii. 20 x 30
d. Single frame film strip iv. 24 x18
In the light of the above choose the correct answer from the options given below.

a b c d

(A) ii i iii iv
(B) i ii iii iv
(C) i i iv iii
(D) iii ii iv

82. 3T % €A & Higd ﬁ A 2
(A) U - Tehdehdl — HILHH — Gohd dT=eh — JTedehdl
(B) ®IF - YHNH ~Hehd — UTiehal — e
(C) FaT — TS - %
(D) 3 § | IS T&l
Aristotle’s model of communication includes :
(A) Sender — Encoder — Channel — Decoder — Receiver
(B) Source — Transmitter — Signal — Receiver — Destination
(C) Speaker — Speech — Audience
(D) None of the above

83. WA H qd e e o e S st v A e g B

(A) foderm s= (B) 31 dT§ (C) ARIETE Hicsh (D) TS ATTg
Pioneer of Pre-school education in India who is also known as Montessori mother is
(A) Nirmala Ben (B) Anu Tai (C) Tarabai Modak (D) Sarojini Naidu
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84.

85.

Tt — 1 g - 11T gafed = |

gt -1 =t -1

a. TER T IR T 1. ggeTRe e
b. TER T MYHH T 2. g A=
c. o =R 3. CARATY, WA, TH
d. 91 % fou §=9r 4. 30, e, Hifgan i
= feu e faeshedt & @ T 3 A |

a b c d

Ay 3 4 2 1

B) 4 1 2 3

(C) 3 4 1 2

(D) 3 2 4 1

Match List — I with List — II.

List -1 List -1
a. Traditional method of communication 1. Community Radio
b. Modern method of communication 2. Event management
c. Development communication 3. Fables, games, song
d. Communication for publicity 4. Email, fax, video conferencing

Choose the correct answer from the options given below :
a b c d

(A) 3 4 2 1
(B) 4 1 2 3
(C) 3 4 1 2
(D) 3 2 4 1
Tt — | 1 g - 1| 3 A1y gAfd |
T - | g -
a. SAfedTd T i. e g% wHEl
b. fafer yesfa ii. S T fafyr
c. eefifasH iii. =afe groeh fafy
d. ITfmEm iv. Tg Tk fafy
Match List — | with List —II.
List-1 List—1I

a. Personal letter i. Audio visual aid
b. Method demonstration ii. Mass contact method
c. Television iii. Individual contact method
d. Campaign iv. Group contact method

a b c d
(A) iii ii i iv
(B) iv i iii ii
(C) i iii iv i
(D) iii iv i ii
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86. YufeTd i |

T -1 g -1l
a. AR AN 1§ i, 9. T T
b. TAT AN <l faversomenss eqwan i, g
c. GIfeRIehtoT 3T TG TEATeHhdT ST WTeHT iii. dl.3R.T,
d. AT 6T HedAT HET iv. JTIRT.
=ﬁ% feu M@ ﬁw T ¥ 98 IW g |
(A) a—i,b— — i, d =i
(B) a—iv, b—iii, c—i,d—ii
(C) a—iii,b—iv,c—1i,d—ii
(D) a—iii,b—i,c—iv,d—ii
Match the following :
List—1 List—1II
a. Local people’s knowledge i. PLA
b. Local people’s analytical capabilities ii. Time line
c. Spirit of decentralized empowerment and local creativity ii. PRA
d. Visualizing key historical events iv. RRA
Choose the correct answer from the options given below :
(A) a—i,b—iv,c—iii,d—ii
(B) a—iv, b—iii,c—i,d—ii
(C) a—iii,b—iv,c—1i,d—ii
(D) a—iii,b—i,c—iv,d—ii
87. =Udl T ST T HHL el BU Tha HUS o UG o IS hl IR Y1 o A1 HaTterd ardt
&, e 8 ,
(A) Us Haqaai! B) feom wHayach C) el Hayaeit D) Td YAt
Flat puppets which are operated against the rear of a tightly stretched white cloth screen with light
behind is called
(A) Rod puppet (B) String puppet (C) Shadow puppet (D) Glove puppet
88. !E? : -

=1 =1
a. o i. 1976
b. TTERR ii. 1995
c. TR Hfy iii. 1961
d. 84dcetl iv. 1957
39U oh &lﬂl%ﬁﬁﬁqmﬁwfrﬁwwgﬁn
(A) a—i, b—iii,c—ii,d— (B) a—iv, b—i, c—ii, d—ii
(C) a—iii, b—iv, c—ii, d—i (D) a—iv, b—ii,c—iii,d—i
Match the following :

List—1 List—1I

a. Legans i. 1976
b. Ensminger i. 1995
c. National Commission on Agriculture iii. 1961
d. Hassaunullah iv. 1957
In the light of the above choose the correct answer from the options given below :
(A) a—i, b—iii,c—ii,d— (B) a—iv, b—i, c—ii, d—iii
(C) a—iii, b—iv, c—ii,d—i (D) a—iv, b—ii,c—iii,d—i
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89.

90.

91.

IV 1 3 Toreeh gRy feam e ¢

(A) TSR s

() faeea

The cone of experience was given by

(A) Edgar Dale

(C) Milton

g — | 1 Fg - 1l § gAfera L |
T -1

a. 3fea §gU .
b. =g 51 i,
c. Uaetd ii.
d. fepe iv.

o few o Feredi # & R SR 9 -
(A) a—iii, b—iv,c—ii,d—i
(C) a—ii, b—iv, c—iii,d—i
Match the List — | with List — II.
List -1

a. Albert Bandura i
b. Sandra Bem ii.
c. Pavlov iii.

d. Skinner iv.

(B) Johnson
(D) Hamilton

GrHTfSTeh ST

fom—=hm frgma

(B) a—iv, b—iii, c—1i, d—ii

(D) a—iii, b—iv,c—i, d—ii
List -1l

Operant conditioning

Classical conditioning

Social cognitive

Gender-schema theory

Choose the correct answer from option given below :

(A) a—iii, b—iv, c—ii, d—i

(C) a—ii, b—iv, c—iii,d—i

(B) a—iv, b—ii, c—i, d—ii
(D) a—iii, b—iv, c—i, d—ii

TR (A) : TFTIeHS Yook fehelt off SRk T 3tfm aiom o1 St o1 T 8 |
Tk (R) : A ! A TG & YT T2l I8 ol 9 § 398 Hee e 2t & |
(A) (A) AT (R) ST TF B YT (R), (A) 1 Tl TIsdHT 2 |
(B) (A) T (R) THI & & fohe (R), (A) 1 Tl Trsdientul T4 2 |

)

(C) (A) T 2 Thed (R) 319 & |
(D) (A) 318 & fohg (R) I 2 |

Assertion (A) : Summative evaluation tries to measure end results of a programme.

Reason (R) : This will help to decide whether to continue or discontinue the programme.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
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92.

93.

ToreqR SRIshH JISHT % HH il SHARIT H |

a. feafa =1 fergersor

b. T2 HI TUT

c. TEESAT 6 ugEH

d. & 1 foemd TS 3T =T 6l sheied sl I

e. 3G I ALl 1 freior

f. T FISHT 3 F=TAH 6 heted bl T

g. ST ST HouTeR

h. SRIHH T A= 3R F9ea

= @ o foshedi § @ wEl IW A ¢

(A) a,b,c,d,e, f,g,h (B) a,b,c,e,d,f,g,h
(C) b,a,c,d, e, f,g, h (D) b,a,c,e, d,f,g,h

Arrange the sequence of extension programme planning.

Analysis of situation

Collection of fact

Identification of problems

Development plan of work and adherence to the operations calendar

Determination of objective and goals

Adherence to work plan and operations calendar

Evaluation of progress

Reconsideration and revision of the programme

Choose the correct answer from the options given below :

(A) a,b,c,d,e, f,g,h (B) a,b,c,e,d,f,g,h

(C) b,a,c,d, e, f,g, h (D) b,a,c,e, d,f,g,h

Frer g1 e fau e @

wuA | : 5 ufthed & sfiwR & A s o @y ffdse foren Smar 7, 3§ I diehen
g SR |

U 11 : AT Topeft afiehed i 5 Tirerd o T W Elha o ST 2, af 38 ot 1 wfaem o &R/

SQ@ ~® 20 o

T 3TERA foRan ST =R |

YR o ATereh H A feu v faeshedt & @ @El W A ¢

(A) THT HUF | 3 1| T 8 (B) T Y | 3 Il TTeAd B

(C) YT | TeAd & N HoH 1| T 8 (D) YT | T & I HH Il TTeAd 8
Given below are two statements :

Statement 1 : The hypothesis which is specified with the hope of rejecting it is called null
hypothesis.

Statement Il : If a hypothesis is rejected at 5 percent level, it must also be rejected at 1 percent
level.

In the light of the above choose the correct answer from the options given below :

(A) Both Statements | and Il are true (B) Both statements | and Il are false

(C) Statement | is false and statement llistrue (D) Statement |is true and statement Il is false
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94. Ueh JTEA! dIR i o ShH whl HAEAT L :
. ST <kl gEnl

FEYM I I 3TaIH TSR B giafdd s
ﬁﬁ@ﬁ?ﬂ%%ﬁﬂﬁﬁ@ﬂ
SRS o SrITE Tty
ERERES IS REIE L
Y9I & TR o1 T
ST AT BT e
JIATaAT ST TETor
JeATaeh <t Wifae wfa
. TATICAT ST HHhIRTT
=ﬁﬁ%m%%ﬁﬁﬁ%ﬁmﬁﬁ

o

—r:@ﬁ¢99¢

(A) a,b,c,d,e f,g,hij (B) a,b,c,e,d,j,f, g, h,i
(C) b,a,c,d,i,e fg,h,j (D) b,d,a,cfeqgih,j

Arrange the sequence of designing a questionnaire :
Content of the questions

Convert the research objectives into the information needed
Motivating the respondents to answer

Method of administrating the questionnaire

Question design criteria

Determining the type of questions

Determine the questionnaires structure

Testing the questionnaire

Physical presentation of the questionnaire
Standardizing the questionnaire

Choose the correct answer from the options given below :

L

— 7@ ~0 Q00T

(A) a,b,c,d,e f,g,h,i,j (B) a,b,c,e,d,j,f, g, h,i
(C) b,a,c,d,i,e f,g,h,j (D) b,d,a,c,f,eg,ih,j
95. Cog
T -1 g -1l
a. THIHd ATgoseh TR 1. WTReRaT
b. TS TR 2. TR qwTeTa
C. FAEL THATHI 3. fouH
d. gfaer TRt 4. @@ S
) fow o forshed & T 3T g |
(A) a-1, b-2,¢c-3,d-4 B) a-3, b-2,¢c-1, d-4
(C) a-2, b-3,c—-4, d-1 (D) a-2, b—4,c-3, d-1
Match the following :
List — | List -1l
a. Stratified random sampling 1. Probability
b. Snowball sampling 2. Non- probability
c. Cluster sampling 3. Heterogenous
d. Convenience sampling 4. Quickly information
Choose the correct answer from the options given below :
(A) a—-1,b-2,c-3, d-4 (B) a-3, b-2,c—-1, d-4
(C) a-2,b-3,c—-4, d-1 (D) a-2, b—-4,c-3, d-1
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96.

97.

98.

99.

100.

T HAEFH % ded auft Teq3it s quwar i, hel S @

(A) AT (B) SEEAT (C) &8 (D) Tfame
The totality of all objects under a study is called

(A) sample (B) population (C) group (D) specimen
HAA(A) : AT & ToTT IreTe YA L R |

T (R) : STERIT Yf=A 8 31fees g trf{mﬁaﬁ’rammtsaﬁ%l

(A) (A) T (R) T TE & (B) (A) W& 2 Tohg (R) Tod @

(C) (A) TreTd & febeg (R) W&l B (D) (A) @ (R auﬁnm%
Assertion (A) : Researcher uses non-probability sampling method for pilot study.

Reason (R) : There is possibility of more clear result with non-probability sampling method.
(A) Both (A) and (R) are true (B) (A) is true but (R) is false

(C) (A) is false but (R) is true (A) and (R) both are false

= - | w@—nﬁﬁqwﬁ@ﬁw
TR -1 L CLE|

a. md i, T THETRR

b. ¥ i, HIE

c. 2 iii. =T

d. X iv. Tfeaa (mfersnn)

Match the symboils in List — | with words in List — II.
List—1 List—1I

a. md i. Chisquare

b. ¥ i. Mean

c. x2 iii. Sum of

d X iv. Median
a b c d

(A) ii i i v

B) iv il i i

(C) i ii iv iii

(D) iv i i

a»‘rs‘wéﬂewwﬁwm e BIA1 8 7

(A) VT T fw i <t T &
(B) S AT H B
(C) T FHS] H g HI A1 H A
(D) V& qEFT & ToT8 o a1 317 a9g &
When Chi square test is used ?
(A) When there are only two groups for comparison
(B) When the data is in frequencies
(C) To check accuracy of data
(D) When there are three or more groups for comparison

SEET I ﬁﬁaﬁhw%%ﬁwﬁaﬁmaﬁ@qﬁ%
(A) TereoTenes HIfE (B w

(C) (A) 7T (B) T g T
Statistics used to describe the important characterlstlcs of population is

(A) Descriptive statistics (B) Inferential statistics
(C) Both (A) and (B) (D) None of the above
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